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ABET Outcome
(a) an abily to apply knowledge of mathematics, science, and engineering
() an ability to design a system, component, or process to meet desired needs within realistic.

consraints such as economic, environmental, social, politcal, ethical, health and safety,
manufacturabily, and sustainabilty
(e) an abilty to identiy, formulate, and solve engineering problems
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Question 1: (30 points. 3

peints each). Select the correct answer

[ rpiementation of fll adder with two halt
addgrs and an ___gate
oR

B! NOR
c. XOoR
D. XNOR

y—

£ None -
3 ATogic Gircult has o nputs X & ¥ each s
b unsigned umber. It has an output
2l sar Z such that the minimum number of
bits required for the output number Z s

A2

c 4
s
E6

3. Complete the circuit on the fight fo
implement the function F(4,8,C) =
[1M(0,1,4,6) using a single 3-0-8 decoder
and a NOR gate. The inputs to the NOR
gates will be
A Qz Qs,and Qs
B, Qz, 3, Qs, and Q7

0, 01, 4, and Q8
D. Q0,01+, and s
E. None

QRRPERLP

4. The circult represent the Boolean function.
A F(A,B,C) = ABC+ A'B'

B. F(4,8,C) = AB + AC

C. F(AB,C)= AC+AB

B F(AB.C)= AB + AC +4
E None

1{lomux

loMux

el 2 1 2
<
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5. In the priority encoder shown with Dohaving
highest priority and D the lowest priority, the
output Y2Y1Yo = 101 when the status at
inputs Do-Dr is as described in
(select one of A, B, C, or D) with all other
inputs being in a don't care condition.
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5. Which funclion F is implemented by using
this 4X1 Multiplexer
A Fix,¥.2)=3(0,3.4.5)

K Fixy.2)=5(1.3,6.7)
C Fon) = S0267)
D, F@xy.2)=X(1.2.6.7)
E. None

7. Implementation of a full adder with an active
low decoder and two
A ORgates
B AND gates

€. NORgates

K NAND gates

E. None
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8. The binary value of 4 3 52 §1 S0 in the
circuit beside is

A10001
Aloilo
€.10000
D.01001
E. None

%100 o101

5. The output Y of the circuit computes.
X The sum bit of a full adder

8. The camry bit of a full adder
C. The complement of A

D. Complementof B

£ None

w
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10. For the shown circui the function F is
A F=XANDY

B. F=XORY
K F=XXORY
=XXNORY

P
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iowing code implements: modue XYZ{Input A, B, €, B, Input
71, The following. ol T

A. 2-4 decoder always @( A, B, C, D, E) begin
B, 14 DeMux case (€)
& 4.1 Mux 2b00: 2=A;
D. 4.2 Encoder 2001 228
E. None of the above b1
default
endease
end
endmodule
12.01. 'b1,8=2'b01,C=2'b00 then y=
{A,B[0],C[1]} equals

R T I R R O R
(AlplcDID[BIDI® [A ]

estion 2 (10 points
it s required to design a circuit that receives a BCD input N and compute two outputs; Q is the

quotient = N/3, and R = remainder. e.g. if the input N=7, then Q=2, and R=1. Determine the number
of bits in N, Q, and R, and draw the truth table for this circuit.
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oints):

Draw the state table for the following circuit

iestion 3 (1
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